Name:

Year 2 homework 12.10.23
Return by 19.10.23

Use the correct symbol to
complete the number sentences
(<>or+)

20

10

50

100

Remember croc always eats the

13

18

11

40

53

grea‘rer number.

Estimate what number the arrow is showing on the number lines

0 100
| | | | | |
| |
0 l 100
| | | | | |
| |

Multiplication

6x2-= 6x5-= 6 x10 =

7x2-= 7x5= 7 x10 =

8x2= 8 x5 - 8 x 10 =

Ix2:= 9x5= 9x10= Can you complete a robot in

) Numbots to gain a
10 x 2= 10x 5= 10x10= certificate next week?




